e Ic) (10 points) What is the electric field at the the center of the arrangement?
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% o 2b) (continued... )
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 2a) (10 points) A thin nonconducting rod that carries an electric charge g (uniformly distributed) is
bent to form a circular arc of radius R that subtends an angle ¢ as shown in the diagram on the left.
Find the electric field (vector) at point A (located at the center of curvature of the arc).
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where r is the radial distance from the B (located at the center of curvature cm nvm defining arcs). Find
the c_e.noun mm_; 728: at B.
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